
Séquence de Nombres Linéaires (H)Remplissez les nombres qui manquent de chaque nombre linéaire.
1. 45 145 195 245 295Différence commune:2. 341 241 41 -59Différence commune:3. 85 55 15Différence commune:4. 226 151 76 -149 -299 -374 -449Différence commune:5. -476 -376 -276 324Différence commune:6. 554 29 -46Différence commune:7. 60Différence commune:8. 33 83Différence commune: Mathslibres.com



Séquence de Nombres Linéaires (H) RéponsesRemplissez les nombres qui manquent de chaque nombre linéaire.
1. -105 -55 -5 45 95 145 195 245 295 345Différence commune: 502. 391 341 291 241 191 141 91 41 -9 -59Différence commune: -503. 95 85 75 65 55 45 35 25 15 5Différence commune: -104. 226 151 76 1 -74 -149 -224 -299 -374 -449Différence commune: -755. -476 -376 -276 -176 -76 24 124 224 324 424Différence commune: 1006. 554 479 404 329 254 179 104 29 -46 -121Différence commune: -757. 90 85 80 75 70 65 60 55 50 45Différence commune: -58. -67 -42 -17 8 33 58 83 108 133 158Différence commune: 25Mathslibres.com


